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.     Measures of spread    .
Apple pie weights: 
Group A    4kg, 4.2kg, 5kg, 5kg, 5.8kg, 6kg

Group B    1kg, 1.1kg, 5kg, 5kg, 8.9kg, 9kg

Groups A & B have the same mean, median and mode,

 but they are different.

Measures of spread are the:


Range:


Inter-Quartile Range:


Standard Deviation: (level 2)

Quartiles:
The Lower Quartile is the middle of the Lower half of the data (LQ)

The Upper Quartile is the middle of the Upper half of the data (UQ)



The median is not included in the list



The data needs to be in order

1kg, 
  1.1kg,
 5kg, 

5kg, 

8.9kg, 

9kg
Minimum


LQ


Median 


UQ


Maximum

.     Practice    .
Times to eat a pie (seconds)         
 12,  14,  9,  38,  26,  54,  33,  22,  17,  47, 12

Maximum = 

Minimum = 

Median = 

Range = 

Upper Q = 

Lower Q = 

Inter Quartile Range = 
Measures of spread give an idea of consistency

The Standard Deviation is the average spread of the data from the mean
Eg Describe the basketball teams ‘A’ and ‘B’ (points scored by the team)

	
	Team A
	Team B

	Mean
	44
	54

	Median
	46
	56

	Mode
	60
	59

	Range
	12
	30

	IQR
	8
	16


.     Practice    .
Times to eat a pie (seconds)         
The school’s senior netball team played 19 matches last year. 
The table shows scores for and against in each match.

	For
	58
	66
	61
	49
	57
	34

	 
	68
	63
	63
	56
	54
	60

	
	51
	53
	62
	70
	59
	48

	
	52
	
	
	
	
	

	

	Against
	33
	41
	44
	85
	39
	90

	
	47
	29
	21
	27
	38
	63

	
	47
	41
	55
	36
	42
	75

	
	53
	
	
	
	
	


	
	Point For
	Points Against

	Range
	
	

	Upper Quartile
	
	

	Lower Quartile
	
	

	IQR
	
	


Range

Highest Value
-      Lowest Value    =  The range

e.g. 
Find the range of the data set below



6, 12, 8, 9, 5, 6, 14, 18


Highest value:  18


Lowest value:   5


Range: 
            18  -  5  =   13

	
	
	
	


Quartiles







LQ


 Median

      UQ

The middle value of a set of data is the median. If the top half is split in half again this is the upper quartile (UQ). The middle of the lower values is the lower quartile (LQ).

The difference between the upper quartile and the lower quartile is the inter quartile range.

e.g. 
Calculate the median, upper quartile, lower quartile and the inter quartile range of the data set below.


6,  6,   6,   7,  8,  8,   9,  9,  9,  10,  11,  12,  13,  14

STEP 1:
Find the median by using the cross off method (data is already ordered)


6,  6,   6,   7,  8,  8,   9,  10,  10,  10,  11,  12,  13,  14


Median is half way between 9 and 10


Median is 9.5
STEP 2:
Find the quartiles by splitting the data into two halves and finding the median of each half

Lower half being all the values below the median

6   6   6   7   8   8   9   

Lower quartile is 7
Upper Half being all the values above the median 


10   10   10   11   12   13   14


Upper quartile is 11
STEP 3: Find the inter quartile range


UQ   -  LQ


11  -  7  =  4

Inter quartile range is 4
For each of the following data, find the Range, Upper quartile, Lower Quartile and inter-quartile range

1) 35, 48, 36, 24, 19, 56, 43, 23

Range:

Ordered Data:

UQ:

LQ:

IQR:

2) 3.5, 4.2, 2.6, 3.9, 2.8, 3.9, 4.2

Range:

Ordered Data:

UQ:

LQ:

IQR:

3) $45, $35, $56, $29, $89, $76, $83, $74, $21, $42

Range:

Ordered Data:

UQ:

LQ:

IQR:

4) 120, 127, 124, 129, 119, 118, 123, 125, 129, 130

Range:

Ordered Data:

UQ:

LQ:
































































































































































